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QUESTION 1

Which three protocols are connectionless? (Choose three.) 

A. ICMP 

B. Telnet 

C. SSH 

D. TFTP 

E. DNS 

Correct Answer: ADE 

 

QUESTION 2

Which two conditions must exist in a Junos device for traffic to transit the device to a specific destination? Choose Two 

A. A forwarding table entry for that destination must exist 

B. A routing policy must be in place on the device 

C. A firewall filter must exist to allow traffic to reach that destination 

D. A routing table entry for that destination must exist 

Correct Answer: AD 

 

QUESTION 3

Which three connection protocols allow you to gather operational information from the Junos device? (Choose three.) 

A. NETCONF 

B. Telnet 

C. XML 

D. JSON 

E. SSH 

Correct Answer: ABE 

 

QUESTION 4

What are two benefits realized by the disaggregated Junos? (Choose two.) 
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A. There is increased flexibility to use different control plane versions. 

B. The Junos VM becomes hardware-independent and can be deployed on any hypervisor without modification. 

C. The architecture facilitates programmability through provisioning the control plane, the data path, and the platform
APIs. 

D. The platform drivers and forwarding engine are removed from the control plane to increase performance. 

Correct Answer: CD 

 

QUESTION 5

You are in configuration mode at the top of the hierarchy. How would you save your configuration to a file on the
router? 

A. save configuration  

B. save config  

C. save  

D. save run  

Correct Answer: C 
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